Big Exam #1 Use both sides. Put your name at the end

#1. Hey, did you know that a Ton is not just a unit of mass, it’s also a unit of power for AC or refrigeration.
Back in the day, people would just buy ice to keep things cool in their insulated food space. So, if they got a
ton of ice per day, then the latent heat of fusion would be absorbed each day as the ice melted. The
accepted conversion is 1 T = 12,000 BTU/hr. Please show that this is about correct and in the process, please
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#2 Let’s say we did the equitable thing and split up the earth’s surface area équally among all people. Direct noon |
sunlight on the equator is about 1000 W/m’.
a) Estimate the amount of land, ocean and fresh water surface area each of us gets
b) Estimate the amount of power we would absorb at noon.
c) Estimate the amount of energy we would absorb in a year.

Vs Vetildes T
fesaon Clefal fopiclation 7Y <0 pesypate

ot e oo
vy~ o pr T

Y /o
Apea - W@//Z Filied M)

i //éx/ﬁj%l o~ 5X/0 7

—_—

W 5 2. .
e /0> NN
e = g0 7 /O S P

hods T foianea o~ F1 I Sl

it - ()~ Y fusctaom, Jord Il s
7;4’1«*4/{ ,zo«s:z.z;-ﬁt il % .z;/ ,zzc,fzs.-.(i%, M- 4 X / 0O m

| 0% A0
§) P& - Intundy sea = ZL2, 1 L T2 gp

el

a . cove’ 2 {f‘;
c) - Pt - ;0/’//%‘;)(’;&);7?:/\0_/3 /:30)‘/&;/&

beoine TotaS area = 71" bt~ fear J

e gealesral densa o Ates =TT 02 i
s 3x]0 J

2
Name é%/




